
Soustraction Avec Un Zéro (D)Calculez la différence.
10 10 10 10- 6 - 8 - 10 - 5
10 10 10 10- 6 - 2 - 1 - 4
10 10 10 10- 6 - 3 - 4 - 4
10 10 10 10- 7 - 4 - 8 - 6
10 10 10 10- 7 - 7 - 8 - 10
10 10 10 10- 6 - 4 - 6 - 2
10 10 10 10- 6 - 2 - 2 - 5
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Soustraction Avec Un Zéro (D) RéponsesCalculez la différence.
10 10 10 10- 6 - 8 - 10 - 54 2 0 510 10 10 10- 6 - 2 - 1 - 44 8 9 610 10 10 10- 6 - 3 - 4 - 44 7 6 610 10 10 10- 7 - 4 - 8 - 63 6 2 410 10 10 10- 7 - 7 - 8 - 103 3 2 010 10 10 10- 6 - 4 - 6 - 24 6 4 810 10 10 10- 6 - 2 - 2 - 54 8 8 5
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